\

!

= B RF:

2 7 o8 B R L = & 8 ¥ £
1d# 9 7 » % & (&) e
T I 76— Bes- ez 247 By ;; i'ﬁ?’ if ""“;;q o fjg 5‘;
D - (Fes| FRdce b\ #EE= 7 |ArE| KESF KEESR| 4 | 3 1| 2| 1] 0] 680
2 |- |t a| A FT O R AR R ;ﬁ AR |mpes] 5 | 2 |t ] 1| o | 1| o650
32| PREAVEIT ETRLIFEFIHAFETE | T8 5 2 2 | 3 | 1| o | 745
4l AR A AT g R ;ﬁ AR (T 4 2 2 2 o | 1 | 650
5|1 || AR | EFR S FE] ZEEF | B | 4 3 2 2 0| 1| 725
8 |- |E 54| B FT s/ BRFE vk ey F HF| 4 3 1 2 1 0 | 680
9 | = |k AR wher® FET e I ;ﬁ HEFEE | #E | 4 2 1 2 0| 1 | 625
10| = VR RACHR AR E N R x| 4 3 2 2 1| 0 | 705
1w |mE4| A+ 4 Fs Vi i R ;ﬁ BEapitE | = :Ff( 4 2 1 3 0 1 670
12| 7 |[ReA4| ERAR R | EF P |2TFE| X Fp 5 gL | 4 3 2 2 0 1 725
15| - |44 o 45 Eh |BRE| PEFEEFE | kE| 4 3 1 2 1| 0 | 680
16 | = [REF A ANFHT | E5ik AT ;ﬁ LR = | #n | 5 2 1 1 0 1| 650
17| = TRk fa ik 4«;UW+—; CxE+g e K& 5 2 1 3 1 0 | 720
18 e [#E4| B AL | @ L= ;ﬁ BAERE |G| 4 2 1 2 | 0| 1 | 625
19 | 1 |7 34| FEp R | 427 ¢ evE| B EKE | B | 5 2 2 | 2 | o | 1| 720
2| - |4 BEFEe g |BivwklerEg = kB[ 4 2 2 2 1| o | 630
2 | - |wege| wEEI | ADp B ;ﬁ Apd g g | o4 |3 |0 s o | 1| s
o4 | = ERE TR E R0 F k%l 4| 3| 22| 1] o] 7005
25 | = |3 %42 7?“—’;%&, O I AR ;ﬁ B 2E | E :Ff( 5 2 1 2 0 1 | 695
2 | 7 |3 AR _‘%g R SRR R FRE] AR R 3 8L |5 3 2 2 0 1 795

30 | = |REKAR| VR IRPE | P S (BRE| EERTE | HEe| 4 2 2 3 | 0| 1| 69
AR NARE 2 8 &5
CARY ARG BT R TTA 2 R E}»%ﬁﬁ\,ﬁw‘g%ﬁﬁﬁ'i NN
FPFEI CBE-SH(EESR) PDUFP Y AFINRTIRFASHES T L L S E

A3 EREA, (Rehk ~3F P ) BAFFE
SEFHAE AT 1-3E %650+ + - 4-6& &TH0=% +
37 B)

B AREE -

. AHER HUS -

o



